            CSSE 376 -- Software Quality Assurance -- Spring 2007

                               Quiz 15

                       Thursday, April 5, 2007

Name:_________________________________________    Grade:______________

1. Plot Bugs/KLOC at each milestone for each of the 5 projects

   below. Put all 5 curves on the same plot and label each curve.

   All values shown (except KLOC) are the number of bugs found at each

   milestone.

   Project  Reqts   HLD     LLD     Coding  SysTest AccTest KLOC

   =============================================================

   A        20      30      40      30      20      4       4

   B        10      20      25      30      40      25      5

   C        45      70      90      80      40      9       10

   D        12      18      22      13      12      2       2

   E        25      40      50      45      25      5       5


Note: HLD is high-level design, and LLD is low-level design.

2. In question 1, project A is considered average, or expected. Which of the other projects deviate by more than 20% from an expected value? When?

3. For each of the deviant projects you identified in the previous

   question, what would explain the reported data?
4. Graph an operational profile for the following sequence of Rosey

   Calendar operations (I=Insert, D=Delete, C=Change, P=Print):

   I, I, I, D, I, C, C, P, I, D, C, P, D, I, D, I, I, C, C, P

(over)
5. Suppose that at the beginning of system testing it takes on average

   6 staff-hours to fix each bug. Suppose that the failure intensity

   at that time is 10 failures/CPU-hour. If you have 3 developers

   available to fix bugs, what is the CalendarTime/ExecutionTime

   ratio?
6. Graph each of the two products described below on the acceptance chart.  For each product, indicate whether that product should continue testing, be accepted as-is, or be rejected.


[image: image1]
	Product
	Bug 1
	Bug 2
	Bug 3
	Bug 4

	A
	1.5 hr
	2.0 hr
	3.5 hr
	8 hr

	B
	0.5 hr
	1.5 hr
	2.0 hr
	2.5 hr


a) What should be done with Product A?
b) What should be done with Product B?
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